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1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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Explain the basic functions of the tool engineering department.
Explain the auxiliary service and its importance to achieve economy.
Sketch three views of single point cutting tool and show its different
elements and angles.
Explain how the following costs are calculated.
0] Setup cost  (ii) Material cost  (iii) Labour cost
OR
State the properties of tool material and types of tool material.
Prepare “Route sheet” for the component of your choice consisting
minimum six operations.
Explain universal act’s elements with suitable example.
OR
Design suitable gauge to check a hole size 32=""°mm
Select appropriate tool material and heat treatment process for following
tools. (1) Bending die (2) Slip bush  (3) Milling cutter
(4) Plug gauge (5) Formtool (6) Embossing die (7) Tennon

+0.03

Design a suitable drill jig to drill 3 holes of diameter 6 mm, part shown in
figure-1. Sketch the assembly arrangement showing important elements.
Also sketch important elements with dimensions.
OR

Design a suitable milling fixture to mill a slot of 5mm width to depth 3
mm in part shown in figure-1. Sketch assembly drawing showing
important elements. Also sketch important elements with dimensions.
5000 blanks as shown in figure 2 are to be produced.

1) Select an appropriate die set.

2) Determine centre of pressure and tonnage.

3) Sketch punch and die showing dimensions with consideration of

clearance, tolerance, surface finish etc.
4) Sketch scrap strip layout and calculate percentage utilization.
5) Sketch the assembly and show various parts.

OR
Draw and explain: (1) Bulging die , (2) Coining Die
Define the following: (i) Die Clearance (ii) Tonnage capacity

(iii) Shut height of die (iv) Centre of pressure
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